
ČTVRTLETNÍ PÍSEMNÁ PRÁCE PRO 2. ROČNÍK
JMÉNO:
DATUM:

Vypočítej:

15 +  25 = 26 +  9 = 22 + 18 =

30 – 11 = 25 – 14 = 40 – 16 = 

13 + 16 = 23 + 12 = 21 + 18 =

29 -  8 = 24 –  17 = 38 – 16 =

Vyřeš tabulku.

Počet kachen 3 2 1 2

Počet psů 3 4 1 3

Počet nohou kachen 8

Počet nohou psů 4

Dohromady hlav 6 3

Dohromady nohou 20 8

Násob a děl.

2 · 2 = 4 · 2 = 14 : 2 =

7 · 2 = 6 · 2 = 12 : 2 =

5 · 2 = 8 : 2 = 10 : 2 =

3 · 2 = 6 : 2 = 20 : 2 =

Zapiš hodiny.
                Půl desáté                                                  Pět hodin


